ooooo
ROIOODOOOOOO
(7) 000000000

1ec20021121 0000 shimo®@is.titech.ac.jp

0O (likelhood)

e JODOODODO
y; = Bo+ Przix + Bozio+ -+ Bpryp + e i =1,...,n

€1,... ,en~N(0,02) i.i.d.
e JODOOOO
fyiz,B,07)
2
N SN I i (Bo + Brzin + - '2+ Byip = i)
V(2ra2)n i=1 20
e 00

L(B,0% z,y) = f(y; x,B,0°)

000 (maximum likelihood method)
e 0000000000 DNDANDDNOD XODOO

L(6; x) = f(X;0)

e J0DO (log-likelihood)
£(0; X)) =log L(6; X) =log f(X;0)

eJ0DDODODDDO(MLE)DOOOD
max £(0; X) = 0(6; X
06@;( ) =1£(0; X)

ooooooooooo

n(Bo+ Brwin + -+ Bpmy — yi)Q

2. __n 2
(B, 0% x,y) = —log(2mo )—El 592

oL _ 3 (Bo + Brair + - + Bpwip — ;) v,

By =1 o2

o n o3 (Bo+ Brzia + - + Bywip — i)
8(02) 202 o 204

o _ lly—XB|?
o =

n

ooooo B=(X'X)"1Xxy,

ooooo

oLe; x _ xAl2
4L‘l,=0 cf. 2ooooon 2= W=XBIT gy _ 2
a0 | n—p—1
5 6
ooooo oooooo 0000000 (Akaike Information Criterion)

e J000O0OOOOODOOODOO
f1(X;01), ..., fm(X; 0m)
gooxooooooooooooood
[D]l]0oDO0OOoDOO0000, 0000000000000

ODDDDDDDDDDDDC(fi,X)DDD
C(f17X)7--- 1C(an7X)
ooooUoooooooooUoo f;,o0000

e 00D0DO0C(f,X)00000000

[D]l]oDOOoOooOO, 0000000

e 00D0O0O0ODOOOR?
00000000000 000000000oonooO

e0ODOOODO
000000000000000000 (0000000000000
000 R2000000)

e J00000OpOOO0OOOOODOOOUOOOOOODOOODOOOO
oooooo

e 0000DOR2DDODODODOODODOO
-1
nil(lfpﬁ)

n—p

RP=1-

e J0OIOOOOOODOO
(0ODOoOooOooOOooOooOoOOoOoOooOoooon)

e00DOO1,..,mODDOOOOOO
Z;=1log f(X;6;), i=1,...,m
e00000p;=dme,00000000 % 000000

opiDDDDDDDDDDDDDDDDDDDDD@DDDDD
AIC1=72X(Z7jpr')
AlICOOO0O0OO0ODODOODOOO

e JO000OODOODOOOOOOODO

7= —%{1 + log(2752)}



goooboobogon

Hokkaido 0.0015318224 6.068695e-04 2.404265e-04 9.525092e-05

X10 1.281302e+09 5.174020e+09 0.2476414 8.058189e-01

Aomori  0.0003841149 1.248898e-04 4.060625e-05 1.320258e-05
>## 001,..,1000000 Twate  0.0002215038 6.657218e-05 2.000803e-05 6.013343e-06 > £0$fsummary
> ax <- "B02304"; ay <- "B02102" > £f0 <- mylsfit(xx0,y) # 00000 Mean Sum Sq R Squared F-value Df 1 Df 2 Pr (>F)
> X2000$jitem[c(ax,ay)] > fO$tsummary Y  0.9423033 0.6653465 7.157395 10 36 4.427039e-06
B02304 L, =Y > jf <- vector(m0,mode="list") # 0000000000000
"0 0M omoo mao > jna <- paste("deg",1:mO,sep="") # 000000
B02102 > jna
"0 M mooooooooooooooo " Estimate Std.Err  t-value Pr>ltl) [1] "degl" "deg2" "deg3" "deg4" "deg5" "deg6" ‘"deg7" "deg8" "degd"
> x <- X20008x[,ax]/366 # OO DOOOOOOOOD Intercept 3.096691e+01 7.902722e-01 39.1851242 4.031380e-31 [10] "deg10"
>y <= X2000$x[,ay] X1 4.430242e+01 1.840984e+02 0.2406453 8.111953e-01 > names(jf) <- jna
> m0 <- 10 X2 2.848865e+03 1.462952e+04 0.1947341 8.466960e-01 > for(i in 1:m0) jf[[i]] <- mylsfit(xxO[,1:i],y) # 0O 1,...,10
> xx0 <- apply(as.matrix(1:m0),1,function(i) x7i) # D OOO0O X3 ~1.273483e+05 5.121129e+05 -0.2486723 8.050275e-01 ># J000O0O0O0ooOoooo
> xx0[1:3,] X4 2.457604e+06 9.500205e+06 0.2586896 7.973482e-01 > xs <= seq(min(x),max(x),length=300)
[,1] [,2] [,3] [,4] [,5] [,6] X5 ~2.701828e+07 1.027694e+08 —-0.2629020 7.941249e-01 > xx1 <- apply(as.matrix(1:m0),1,function(i) xs~i) # 0 O0OODO
Hokkaido 0.3961749 0.15695452 0.06218144 0.024634722 0.009759658 0.003866531 X6 1.788248e+08 6.785100e+08 0.2635551 7.936255e-01 > xx1 <- cbind(1,xx1) # DO O0O0O0O0OOO
Aomori  0.3251366 0.10571382 0.03437143 0.011175411 0.003633535 0.001181395 X7 -7.220250e+08 2.763475e+09 -0.2612743 7.953700e-01 > plot(x,y) # 000
Iwvate  0.3005464 0.09032817 0.02714781 0.008159178 0.002452212 0.0007370034 X8 1.739417e+09 6.763122e+09 0.2571914 7.984954e-01 >a <- c(2,3,4,6,10) # 00000000000
[,7] [,8l [,9] [,10] " X9 -2.297849e+09 9.104277e+09 -0.2523922 8.021734e-01 > for(i in seq(along=a)) lines(xs,xx1[,1:(ali]+1)] %x% jfl[alilll$coef,col=i]
> jaic <- sapply(jf,function(a) a$aic[[1]]) # aicO0D0DODO0O0O0OO0O0DOOO
81 e ># 000000000000 O
> jrsq <- sapply(jf,function(a) a$fsummary[[1,2]]) # rsq0 DO ODO00O00O0 > jale
54 oooono degl deg2 deg3 degéd degb deg6 deg7 deg8
> jrsq 160.2884 142.7013 137.8249 130.6983 132.2483 130.1717 131.3846 133.3719
8 degl deg2 deg3 degéd degb deg6 deg7 d. deg?d deg10
0.1988971 0.4719236 0.5437978 0.6243143 0.6278945 0.6588093 0.6644755 0.6645(  135.3424 137.2624
8- degd deg10 > #0000
> 0.6647764 0.6653465 > matplot(1:m0,cbind(jrsq, jrsqadj),type="b",xlab="deg")
o s# 00000000000000 > plot(1:m0,jaic,type="b",xlab="deg")
> jrsqadj <- sapply(jf,function(a) a$rsqadj[[1]]) # rsqadjO00 000000
s oooooo
> jrsqadj
2 degl deg2 deg3 degé degb deg6 deg7 d;

o

v O

.1810948 0.4479201 0.5119697 0.5885347 0.5825158 0.6076307 0.6042531 0.5939¢

deg9 degl0

.5832355 0.5723872

## aic00 000000

150 155

Jaic
45

10

—
\
/
\
\,
\,
\,

130

>## 0000000
> cbind(jrsq, jrsqadj,jaic)

jrsq  jrsqadj jaic
degl 0.1988971 0.1810948 160.2884
deg2 0.4719236 0.4479201 142.7013
deg3 0.5437978 0.5119697 137.8249
deg4 0.6243143 0.5885347 130.6983
degb 0.6278945 0.5825158 132.2483
deg6 0.6588093 0.6076307 130.1717
deg7 0.6644755 0.6042531 131.3846
deg8 0.6645659 0.5939482 133.3719
deg9 0.6647764 0.5832355 135.3424
degl0 0.6653465 0.5723872 137.2624

>

+
+
+
+

ordval <- function(x) { # 000000 000O0O0DODO
a <- 1:length(x)

alorder(x)] <- a

a

}

> order(jaic)
[1] 6 4 7 5 8 910 3 2 1
> ordval(jaic)
[1] 10 9 8 2 4 1 3 5 6 7
> cbind(jrsq,ordval(-jrsq),jrsqadj,ordval(-jrsqadj), jaic,ordval(jaic))

jrsq jrsqadj jaic
degl 0.1988971 10 0.1810948 10 160.2884 10
deg2 0.4719236 9 0.4479201 9 142.7013 9
deg3 0.5437978 8 0.5119697 8 137.8249 8
deg4 0.6243143 7 0.5885347 4 130.6983 2
degb 0.6278945 6 0.5825158 6 132.2483 4
deg6 0.6588093 5 0.6076307 1 130.1717 1
deg7 0.6644755 4 0.6042531 2 131.3846 3
deg8 0.6645659 3 0.5939482 3 133.3719 5
deg9 0.6647764 2 0.5832355 5 135.3424 6
degl0 0.6653465 1 0.5723872 7 137.2624 7



goooooooooo

+
+

X

}

>+ 0oD0O0OODDODOODOOOOOO Estimate Std.Err t-value Pr(>ltl) >
> save.image() Intercept 3.636118e+00 6.108140e-01 5.9529052 4.642519e-07 > jb <= genbit(p0) # 00D DDDOD0ODOODO
> ax <= c("E09504","A0410302","C01301", "BO2101"); x <= X2000$x[,ax] E09504  -1.655659e-02 6.570354e-03 -2.5198932 1.562857¢-02 > jb
> ay <- "A05203"; y <- X2000$x[,ay] A0410302 -2.727500e-02 7.438516e-03 -3.6667262 6.850351e-04 [,11 [,21 ,31 [,41 (,s1 [,6] [,71 [,8] [,91 [,10] [,11] [,12]
> X2000$jitem[c(ax,ay)] €01301 1.228960e-05 4.635665e-05 0.2651098 7.922217e-01 [1,] FALSE TRUE FALSE TRUE FALSE TRUE FALSE TRUE FALSE TRUE FALSE TRUE
E09504 40410302 B02101 2.012511e-02 5.098161e-03 3.9475245 2.951848e-04 [2,] FALSE FALSE TRUE TRUE FALSE FALSE TRUE TRUE FALSE FALSE TRUE TRUE
"o00b0oooooooooooo » 0 M M M Mo2pe0240000 " [3,] FALSE FALSE FALSE FALSE TRUE TRUE TRUE TRUE FALSE FALSE FALSE FALSE
01301 B02101 > fO$fsummary [4,] FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE TRUE TRUE TRUE TRUE
ooooooooooo o mmm Mean Sum Sq R Squared F-value Df 1 Df 2 Pr (>F) [,13] [,14] [,15] [,16]
A05203 Y 0.07061925 0.7431179 30.37478 4 42 6.678249e-12 [1,] FALSE TRUE FALSE TRUE
"0ooooooaoo" > genbit <- function(m) { [2,] FALSE FALSE TRUE TRUE
> p0 <- ncol(x) # 00OO0DOD + n < 2°m [3,] TRUE TRUE TRUE TRUE
> p0 + x <- matrix(logical(n*m),m) [4,] TRUE TRUE TRUE TRUE
[1] 4 +  for(i in 1:m) { > jna <- apply(jb,2,function(x) paste((1:p0)[x],collapse="")) # OO
> £0 <- mylsfit(x,y) # 000000 + k <- 27(i-1) > jna <- paste("(",jna,")",sep="")
> fO$tsummary + x[i,] <- c(rep(F,k),rep(T,k)) > jna
L, =Y " + 3 [11 "O" T @ A @) a3 (@3t (123)"
[P "(&)"  "(14"  "(24)"  "(124)" "(34)"  "(134)" "(234)" "(1234)"| > # 0000000000000 (int=FO000O000COO ># 00000000000000

> m0 <- dim(jb)[2] # 0000000 =274 = 16
> m0
[1] 16

> jf <- vector(m0,mode="list") # 000000000 OOODO
> names(jf) <- jna
> x1 <- cbind(1,x) # 000000000
> for(j in 1:m0) { # D00 O0OOOO0OOODOOO
+ jx <= x1[,c(T,jbl,j1)]
+ JEL[3]1] <- mylsfit(jx,y,int=F)
+}
>## J0000000000O0O
> jrsq <- sapply(jf,function(a) a$fsummary[[1,2]]) # rsq0 00000000
ooooo
> jrsq
O (€D (2) (12) (3) (13) (23) (1
0.9920675 0.9962908 0.9969184 0.9971052 0.9954002 0.9964788 0.9971539 0.9972
(4) (14) (24) (124) (34) (134) (234) (12
0.9922747 0.9973095 0.9975616 0.9979589 0.9955045 0.9973100 0.9976542 0.9979

> jrsq <- sapply(jf,function(a) cor(a$pred,y)"2)
Warning message:

The standard deviation is zero in: cor(x, y, na.method)
> jrsq # 0000000 OD0O000O000O

O ) 2) (12) 3 (13) (23)
NA 0.53240778 0.61152634 0.63506910 0.42013785 0.55610091 0.64121051
(123) (4) (14) (24) (124) (34) (134)
0.64780881 0.02612046 0.66082410 0.69261296 0.74268801 0.43327717 0.66088575
(234) (1234)
0.70428060 0.74311788
> jrsq <- sapply(jf,function(a) var(a$pred)/var(y))
> jrsq # 0000000000000 O0O0O0O0O0O0O0O00O
O 1) (2) (12) 3 (13) (23)
0.00000000 0.53240778 0.61152634 0.63506910 0.42013785 0.55610091 0.64121051
(123) (4) (14) (24) (124) (34) (134)
0.64780881 0.02612046 0.66082410 0.69261296 0.74268801 0.43327717 0.66088575
(234) (1234)
0.70428060 0.74311788

>
>

o

0
>
>
]
>

jrsqadj <- sapply(jf,function(a) 1-(length(y)-1)/(length(y)-length(a$coef)]

jrsqadj
O 1) (2) (12) (3) (13)
.000000000 0.522016839 0.602893591 0.618481327 0.407252028 0.535923676
(23) (123) (4) (14) (24) (124)
.624901897 0.623237331 0.004478694 0.645407016 0.678640817 0.724736015
(34) (134) (234) (1234)
.407517041 0.637226618 0.683649012 0.718652920
## aicO0DOOOD0OOO
jaic <- sapply(jf,function(a) a$aic[[1]]) # aicO00DD0O00O0DOO0DODOO
jaic
O [¢D)] (2) (12) 3) (13) (23)
-55.16929 -88.89675 -97.60920 -98.54751 -78.78264 -89.34072 -99.34521
(123) (4) (14) (24) (124) (34) (134)
-98.21760 -54.41327 -101.98740 -106.61273 -112.97019 -77.85988 -99.99595
(234) (1234)
-106.43147 -111.04878

v

# 0000

v v

plot(1:m0, jaic,type="b",xlab="model")

matplot (1:m0,cbind(jrsq, jrsqadj) ,type="b",xlab="model")

ebind(rsa, jrsqad))
04
i
jaic
80
I

model model

\2

# 0000000
cbind(1:m0, jrsq,ordval(-jrsq), jrsqadj,ordval(-jrsqadj),jaic,ordval(jaic))

v

jrsq jrsqadj jaic
O 1 0.00000000 16 0.000000000 16 -55.16929 15
@ 2 0.53240778 12 0.522016839 12 -88.89675 12
) 3 0.61152634 10 0.602893591 10 -97.60920 10
(12) 4 0.63506910 9 0.618481327 9 -98.54751 8
3) 5 0.42013785 14 0.407252028 14 -78.78264 13
(13) 6 0.55610091 11 0.535923676 11 -89.34072 11
(23) 7 0.64121051 8 0.624901897 7 -99.34521 7
(123) 8 0.64780881 7 0.623237331 8 -98.21760 9
@) 9 0.02612046 15 0.004478694 15 -54.41327 16
(14) 10 0.66082410 6 0.645407016 5 -101.98740 5
(24) 11 0.69261296 4 0.678640817 4 -106.61273 3
(124) 12 0.74268801 2 0.724736015 1 -112.97019
(34) 13 0.43327717 13 0.407517041 13 -77.85988 14
(134) 14 0.66088575 5 0.637226618 6 -99.99595 6
(234) 15 0.70428060 3 0.683649012 3 -106.43147 4
(1234) 16 0.74311788 1 0.718652920 2 -111.04878 2

1.

ooo oo

0o00o0oo000oo0oodobo0odOon0OdDd modeleritd OO0

000000 1sfit000000000 000 resid0 coef 00O OO
modelcrit0 0000000000 rsqadj0 000000 OaicOOOO
oooooooooo

modelcrit <- function(f) {

#

000 f$residl f$coef [ rsqadjd aicO O OO0

list(rsqadj,aic)

}
f
a

2.

<- 1sfit(x,y)
<- modelcrit(f)

Xx2000¢x0 0000000000 OOOO0O0OOOOOOOOOO

0000000000mylsfit00000 tsummaryd DO 0000000

O

modelcritd 00000000000 OOOOOOOOOOOOCOOO

mylsfitO OO0 OrsqadjU aic0 000000000000 O0OCOOO

12



3. 0000000000000 000000D0OO00OO0OOoO00o0O0
0oo0oooO0o000o00obooO00O000po0O0D 000000 2P0
0000000000000 modelecritd000000O00O00O0O0O0O0OOO
goooooooboooooO0oO0OO0OO0O0OO00O0OOOOOO0OO0O00O0
obooooooooOoooooooOoOoOoOOObOOObOoOO0OOOooboonOg
00000000000 000oDooooooon)




